THMSERRE1IZTDHE - /SRR FIZDONT
($705%9 B 8HOBI0HHE) [%14)

TEN RER GHEED SHEER -HXARE
1 [EKRE
MESERGFHAREEHER)
A H R HEREFZ *i 5 Mg ZEHXIIEROERAR
9878 A 16:15 FEH CIERIE. A, R
9A8H £ 3:45 FET CEEmIXM. &, ?ﬁJﬁL, KR
9A8H E 5:12 FEH CEERIEK. AR, . 8E. KR
9A8H £ 5:35 FEH [(ZR]FHKCEERIKRR. . A, KE
9H8H ES 6:51 TEH EINETS xFﬁ(:tE'L““i)[,I‘E‘%E F. A KR
9H8H & 7:40 FEH [T KEZEREFRIZHIEK, xFﬁ(i@“‘i)
(2)BERRKRFEEHERAE) XTETEMEEROMEREENRAOBRARETLEH
FEmH TEm FEm TEM %ﬁ?ﬁ TEH TEH
oA A FEHRP AFDN (ERINEEF| MERER | EEXE® T&RE/ND ERERXE
e m=(1057) 5.0mm 7.5mm 5.5mm 6.5mm 9.0mm 12.0mm 6.5mm
RIEM= 76.5mm 115.5mm 91.0mm 95.5mm 159.0mm 196.0mm 85.5mm
%9H7H 8: 30~ 988H 9:15M{E
(3) EEIR R (KRETHP- - -8RI i T X RIS K R EAIFT)
RAEZE 6.1m (9A7811:53) ®RKXEMEEZE 9.8m (987H11:43)
2 BERE
A H R Bz &l RPN [EES
9H8H £ 5:35 ,I%‘Eafr*{ﬁll(“mzzs*rs) 170
9H8H & 7:40 —BelR A s CREXN EASD) 237
3 HERNE(9ASH 915958 #)
X% PR X TERINE WMEX HEX RX EERX a5t
£ 0 0 0 0 0 0 0
NS ES 0 0 0 0 0 0 0
i3] A 55 0 0 0 0 0 0 0
w=” e 0 0 0 0 0 0 0
Elenp| 2 0 0 0 0 0 0 0
SBE | BE 0 0 0 0 0 0 0
* 3 0 0 0 0 0 0 0
= F® 0 0 0 0 0 0 0
% — IR 0 0 0 0 0 0 0
= kLZK 0 0 0 0 0 0 0
= R FiRK 0 0 0 0 0 0 0
FIAET FBK 0 0 0 0 0 0 0
2| [Tt 0 0 0 0 0 0 0
w [£us | 2K 0 0 0 0 0 0 0
= | EHH | IS 0 0 0 0 0 0 0
X fE 0 0 0 0 0 0 0
z MIFEN 0 0 0 0 0 0 0
o B K 0 0 0 0 0 0 0
o = 0 0 0 0 0 0 0
[EES 0 0 0 0 0 0 0
&R LS 0 0 0 0 0 0 0
Sl 0 0 0 0 0 0 0
AHTRHEREE 0
3 (BG:FA)
= [Py Oha Oha =
}E%*& *&nﬁ*ﬁ (}%{/Fq%) (HEEQ) *&ngﬁi :FFEJ
4 BHEWR
(1) BHEIE =
EDEEZ xME [ HRETARK SR fERR
qﬁl:z%ﬁ%% ht
N X, ## 11,6491 55 )1y <4< 0 B o o
9/8(£)7H40% R.EER. (25,436 1) THREBERFRESICKY
&X
(2)WMH#EDZ AN (QOA8HIK30HIRME)
X5 fRX TR BEX HEX BRX E At
WMEEK 0 0 0 0 1 0 1




5 RBHEIER
REMR
NEBRATOAFOHZET, HE~RRREO TVRO—EIEISENAHTVET,

RE#

KRDOHET, BEE~RER/IIREO L TRTEGZRELETVET,
ERERRAAFI->THFEE A,
SRMABSFYRERBRARETVET,
FE~BRZREOLTRICSENDSHTOET,

HER

KROHZET, HE~TER/IIREO L TRTEGZRELETVET,
BEBRRAII>TOERA
SRMABSFEYRERBRARETVET,



